75

# 1M (TFIoBoERE] ---P2

#2 M (FTFoBoERE] ---P2

%3 (TFoBomE 2] --P3

Fal [~NInby - =V —0FEHL] P4
F5H [~NInbv - =V —DFEH2] P4
%6 M [HITFIOER] ---P5

%7 R [¥1T5 % b2 V&) ---P6

%8 M [&EEm-T1T5 % (F1TH%EE 2 T) RDB] ---P6
%9 M (175 L FwaE] ---P7

#5101 [475onEk1] --P7

w1 [THonE2] P8

#1211 [475lonk3 (FI EFIA)] P10
%130 (fTFIonk4 GHA1TFIRIA)] P10
#5141 [ 1 RE#ERTITHEZRD D] ---P1L
%5 15 [ [ElEEA2FRK$1751] ---P12

F16 M [ 1 WE#LOISA] P12



%1/ (T30 0EE]

WOATHNCHDONT, B2 2 OOMMNARER b D& T X THEY L.

1 -2 1 3 2
A=(2 1) B:< > C:< > D=
-3 4 2 -1 4

W =
S W N

<fif >

I X, YIiZonT, XOFOHEY OITOHMPRELWEE, XY NEZXLN5.

AT 1X2975], B3 2X2174, Cix2x%x347%], DI 3X2174|THH 05, AB,
AC, BC, CD, DB, DChExobh5b.

AB=(2 D(é _§=p4 0), AC=(2 n(

SRS
I e R R T e R O
ol 3 2 3

3 9 6

1 3 2
>=M 5 8),
2 -1 4

BC

CD

F2m (AT5OBOME 1]

1 2 1 -1 \
A=<_1 3>, B=<_2 O)m:%, (A+BJ(A—B) &R k.




<fif >

e B e e S S P

Fot  (A+BYA B_<2 vc ?_<zmuq 23+L3>_C %
° + -B)= -3 3/\1 3/ \(=3:0+3-1 (—3)-3+3-3) \3 0

EATPIOBOFETIE, ZHATRENE I bbb ipne &, BIANIILHRNE 51
]\/J: 50

30 [(AT5oBOME 2]

1

1
A,Bﬁ2ﬁ®Eﬁﬁﬂf,A+B=& :

3 -1
>,A—B=@ Q%ﬁk?&%,ﬁﬂ

AB, A*—B* %k L.

<>

1 1 3 -1
A+B:@ > ...... o, A_B:< > ------ @ el
4 0 2 0
O+@ 7 2A:< > ko7 A=< >

-2 2 —1 1
D-@ 6 23:(2 _Q Fot B:< >

(s o6 736 -




BAM [~NIAby =) —DFERH1]

WOITH AlZHNT, A%+ pA+qE=0 %=+ p, qDEERD k.

2 5 3 —6
) A=<1 3> 2 A=<1 _2>

<fif >

1) A% 4+ pA+qgE=0 - D 5.

NINVRY A ) —DERNS, AlconT  A*—5A+E=0 - ®
N A/RVASN
O-@ b (P+5A+(q—-1)E=0

AxEkE (k1358 THLHND pP+5=g—1=0 Fot  p=—5, g=1
2) A’4+pA+qE=0 - D 4%,

NIV A —DERNDL, AlcHonT  AP—A=0 - ®

D AIVASH

O-©@ 75 (p+1)A+qE=0

AxkE (k13F8) THDH p+1=4g=0 LoT  p=-1 q=0

BE5M [~NIAby =Y —DEH2]

a b
ﬁﬁ'JA=<c d> NA —A—2E=0 %l-7 & %, a+d, ad—bc DffizRkD k.

<>

NI R A Y —OEENS A —(a+d)A+(ad—bo)E=0 - D)

(R B A’—A—2E=0 @
O—@ »b (a+d—1)A=(ad—bc+2E - ®
1] a+d—1=0pr % @»ne  (ad—bc+2)E=0
o7 ad—bc+2=0 WPz AT a+d=1, ad—bc=-2
2] a+d—1x0pr % @ e A=RE (P13 BT 5.
IhE@ITRAT S E (k*—k—2)E=0
koT  kE—k—-2=0 hzEfpanc  k=-1, 2
k=—1nrx, A=—EThiHrH1D a+d=-2, ad—bc=1
k=20t x, A=2EChrhb a+d=4, ad—bc=4
LI (a+d, ad—bc)=(1, —2), (=2, 1), (4, 4)

4




%6 [HTsloEE]

RO WATH 2 S T, T zRed K.

(1) (3 2> ) <4 8) 3) (3 0> ) < ! _2>
7 5 3 6 0 3 —6 3
5) <7 —4> ) <sin0 —cosﬁ) 7 <a+1 —a>
9 -5 cos @ sin @ a 1—a
<ﬁ’qi>
(1) 4=3-5—2.7=1x0 LT, WTHIE B .
<3 2>—1_1< 5 —2>_< 5 —2>
7 5  1\=-7 3/ \=-7 3
2 A=4-6—8-3=0 LT, WFEIE B AR
3) 4=3-3—0-0=9%0 L oT, WTHIE b .
1
<3 0>—1_1<3 0)_ 3 0
03 9\ 3 1
0 3
4) A=4-3—(—2)-(—6)=0 L oT, WTHIE bR,

5) 4=7-(—95—(—4)-9=1x0 XoT, ¥1TA%E 0.
7 —4\! 1/-5 4 -5 14
<9 —5> :T<—9 7>:<—9 7>
6) 4d=sinfsinf —(—cosf)cosf =sin?d + cos?0 =10
£ oT, WiTsEHO.
<sin0 —cos¢9>‘1_1< sin @ cosﬁ>_< sin @ cos¢9>

cosf sin 0 1 —cosf sind —cosf sind
7)) d=(a+1)1—a)—(—a)-a=1x0 Ko T, WITP% .

<a+1 —a>_1_1<1—a a >_<1—a a >
a l—a) 1\ —a a+1) \—a a+1




7R [HAT5 % b 7o iG]

2—a b
< b 2+a> MNWITH 2 STk 912, B a, b OEZTED L.

<fif >

4=2-a)2+a)—b*=4—(a’+b?
WITH AR T2 0 DIZ d=0D L X ThHN1D

4—(a?+59)=0 LT a’+bi=4
a, bUIHHTHENE (@, 0)=(0, £2), (2, 0)

F 8 [FFa®icdTole (T2 E A T) R 5]

12 —4 4 2 0
A:<3 5>’ BZ( 1 2>’ C:<5 3>@<‘—’é°, %X AX+ B=C &= 3175 X &k

.

<>

AX+B=C»b AX=C-B
175 Ao T, 4=1-5-23==1x0Ths1b, A" NEFEHELT

e N
EoT X:AWC—E:(i —3K§g><_jgﬂ

(7 olle 0l




%9 R [HAT5 & FRE]

EHFITINZDOWT, IROZ L ZHFHE L.
(1) A*'=E 72513 A 1396475 % & .
2) A2=0 751 E— A 375 % & o.

<fif >

(1) A*=E»5 AA’=E, A°A=E EoT, ATUTE A® 2.
2) A?=0 15
(E—A(E+A)=E*—~A*=E, (E+A(E—A=E*—~A*=E
FoT, E-AITFTHE+A %S0,

FH10R [TFlonFE 1]

nITEREET D, ROITH|AIZHONT, A" Z3RD L.

(1) A—G % (2) A—C %
0 —4 0 -1
1 2 -3 J7
(3) A_<O 1) (4) A_<_ﬁ 2>
<R >




1 6 1 61 6 /10
o a=fo o} A=l o ) o)
0 —1 0o —1/\0 -1/ \o 1

A’=A*A=EA=A, A'=A°A=AA=A*=E

1 6
REND, nRNEHO L X A”=<O _1>

10
0 DSEHD L % A”:<O 1)

12y /1 21 120y 2 (1 2+42:1\ (1 2.2
I T e e L e i ey
0 1/7\0 1 o 1Mo 1)7o 1 0 1

A3—A2A—<1 2-2><1 2>_<1 2+2-2>_<1 2.3>
N o 1 /00 1/ \o 1 ) 0 1

1 2xn
BmEMNG A”=< >

0 1
R S A I A |
e ) R
mIZARKE TS, n=3m-20rx A":<__j7 f
n=3m—1mkx A”:(i7 _f>
v ors ane(! )

(1), (3) DAEFIZE, BB IITEFRYITFNE CIEA L7221 uiE e & 720,

F1LR (4T3 nFE 2]

1B
5 A : ? K ORI Z &
1751 A= IZoNWT, ROMWCEZ k.
V3 o1
2 2
1) A% A%k k. 2 E+A+A% 4. L+ A" Zkw k.




<fif >

2

w=aa={5 s Vs V)
(s Tl Vil )G )

1<1 -3

) A=—— gy B I
(1) 1 >f;§>5 5

werasi{z -3 V)
s e V)0 6 )

2) E+A+A2=<(1) (1)>_%<¢1§ _f>+%<;§l _f>=<g g>=o

mITAREE T 5.
n=3m DL x

n=3m—-10ktx
E+A+A%+- -+ A"

00
—(E+ A+ A)E+ A%+ +A3’”—3):0:< )

n=3m—-20nLx

=E+A+(E+A+A%)A*+ A+ +A3m—4)=E+A=§

1<1J§

1) 1Z[ElEE % #3750 n BEHETROTH R,



w120 [ATFlonk3 (EEFH)]

1) X"=(X’—X-2E)Q(X)+aX+bE %7~ &% a, bOfEizRkdL. 72771,

AT 5,
3 4
2 A:<_1_4>@g%,A"%ﬁ@;.

X

<fif >

1) Hxpd X'=(X+EX—2EQX) +aX+bE - ®
Dz X=—E #ftAT5¢ (—E"=a(—E)+bE
rFoT {a—b+(=1)"E=0
SEIT a—b+(=1)"=0 - ®
Dz X=2F #fXA+25¢ (Q2E"=a2E) +bE
LT (2a+b—2"E=0
D2IT 2a+b—2"=0 e ®
LEAoT, @, @b a=21%5ﬁi,b=zﬁﬁgiﬂi
2 NINhr IV —DEENS  A'—A—2E=0
L7=moT, (1) OfEEMD
2%4—n”<3 4>+w+zw—nnc %

A"—aA+bE—
el 3 1 —2 3 0 1

l<2n+2_<_1>n 2n+2_4.<_1>n>
=2"+(=1" =2"+4+4-(-1)"

3

F130 (T8I n3k4 FATHIFIA)]

3 =2 1 2 ~
a=(] ") =[] 1) B=PAP L5 woiERD L

1 0/) 1 1
72720, niZEARKLETS.
(1) P! 2) B 3) B” 4 A"

10




<fif >

1) 478 PizonT 4=1-1-2-1=-1
-1

-1

1 1 —2> <
P_1=— =
Lo T <_1 )

-1
(2) B=P‘1AP=< ]

] Bn_<1 o>n_1
) \0 2 _<o

4 B"=(P'AP)"=P'APP'AP

A

.
2”

-2
0

)

)

-1

12)_
1 1)

W

P 'AP=P'A"P

X B"=P'A"P Oz,

et P, AP a#ir 52 PB"Pl1=A"

Lieho>T A"=

b

0 9
27l+1
_< 2" 1

F1am [ 1 RE#LERTITINERD D]

-1

0

-1
1
_ontlyg
—2"42

1 2n+1

S

TRE# fITL->THEQA,0 1 R8(2,D) 128y,
ZoLkE, 1WREM f 2RI A 2R &

R(=2,31F3/8,7)1c%5.

()0

®, @ £v

<1 —2> <2 8
A =
0 3 1 7

)

Lo T

<2 8><1 -2
A=
1 77\0 3

) =

2 4
1 3

)

11




%151 [EEszR31751]

B2, V3) AEADEDYIT —= RS LTS Rk L.

r
6

<fig>
Koo maz (2, y) &35,

cos~ —sin~
<x> 6 6 <2ﬁ >
y

/ sinE cosi 4
6 6
V31
-7 e )
IR RV A
2 2
[sv5)
\3/3

Lo, ka1, 3/3).

16 [ [ 1 RE#RDIEH]

Yol LD 1V RER S RKAITINEAL TS,

M I REBRSICE>TEPREQIZIEY, fICEoTHQMNERIIBA LTS, Dk X,

A*=kA (R13FS > k=0, kx]1)
AT 72 5IE3R0, Q, RIFFA—EMR EIZH D Z & 2Rt
(2>A=<2
0 d
BNETDORBFHIRD EE, FHb, dDjEEZRD &

12

b
) LB E y=5r LOFATORICK L, L RERS 1Ok > CB SIS




<fif >

(1)0Q=AOP,
OR=A0Q = A’0P=kAOP=%0Q
X, 350, Q, RIZFA M Lk 5.
(2) AR y=5x LD ITFES L & HNT (1,50 LT 5.
ERE y=5x LOFTRXTORIIKL, 1RESICL>TRINOIGPZEDRAFITR
%L

o alls~lso

MDEE YLD, Lo T

<2t+5bt> <t> <<2+5b)t> <t>
= <> — @
5dt 5¢ 5dt 5¢

L.

DITTRCTOEHLICKH L TR S HDDT, (tDOEEXOEKMEEEZLD L)
|2+5b=1
5d=5

nb=—g , d=1

13



